
SANJAY GHODAWAT INTERNATIONAL SCHOOL 
COMPUTER SCIENCE – REVISION TEST -1 

CLASS – XI  (TERM -2 SYLLABUS) 
 Section –A 

Answer the following questions each question carries 2 marks 
 

QNO  MARKS 
1 What is the result of L[2][1]  and L[2:] if L = [12,3,(10,20),18) 2 
2 a) Which of the following built-in function can’t be applied on 

tuples 
a. sum()    b. min()  c.  insert()   d. len() 
b) Which of the following is not a sequence datatype. 

a. String   b. List   c. dictionary  d. tuple 

2 

3 List out any 4 built - in functions in dictionary  
4 Create a dictionary with name student with given information 

Sid     Sname 
  1      Mohit 
  2      KAMAL 
  3      Vikranth 
  4      Mukesh 

 

5 i) Which of the following does not come under cyber crime ? 
a. Cyber bullying    
b.  cyber trolls      
c. theft of computer   
d. information theft 

ii) ___________ is  a program that appears harmless but 
actually performs malicious functions such as deleting or 
damaging files. 

 

2 

6 What is a cookie? Mention different types of cookies used by websites 2 
7 Find the output of following code; 

 
T = tuple() 
T = T + (‘python’) 
print(T) 
print(len(T)) 
T1 = (10,20,30) 
print(len(T1)) 
 

2 

 Section –B 
Answer the following questions each question carries 3 marks 

 

8 Find and write the output of the following python code: 
 
TXT = [“20”, “50”, “30”,  “40”] 
CNT = 3 
TOTAL = 0 
for  C in [7,5,4,6]: 
       T = TXT[CNT] 
       TOTAL = float(T) + C 
       print(TOTAL) 
       CNT - = 1 

3 

9 Consider the following dictionary  3 

Statecapital = { “Telangana” : “Hyderabad”, “Bihar”: “Patna”, 
 “Maharashtra: “Mumbai”,”rajasthan”: “Jaipur”} 
 
Answer the following questions: 

1. print(statecapital.get(“Bihar”)) 
2. print(statecapital.keys()) 
3. print(len(statecapital)) 

 
10 
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 Section –C 
Answer the following questions each question carries 4 marks 

 

11 Predict output: 
D1 = {5: “number”, “a”:”string”, (1,2) : “tuple”} 
print(‘dictionary contents”) 
for  x in d1.keys(): 
      print(x, ‘:’ , d1[x], end=” “) 
      print( d1[x] * 3) 
      print() 

4 
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